Autumn Test 2

e Class: @ Date: o,
1| - x2u-= O 2| 16-4= O
3 | 538+174= ()] |46 a
5| 5x7x5= el —as5 100 |()
7 | 395 x9= () |8 =10 X 1 O)
e = 6 X 400 () 10| 3487 — 1539 = 0)
1| 6852+4= () 12| >+35 = 0)
13 | 763,476 + 387,344 = 0 14 | 58725 0
15 ;_><3= D 16| 5>—10= D
17 | 562 +6.523 = 0) 18| 1 x5= 0
19 —3-6 0) 20| 5645 + =73 ()
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Autumn Test 2 (continued)

7|4
21 22
X |5 217]18|6|4
(2 marks) (2 marks)
3 _ - —
23 2 +3= D 24| 57 + 1000 D
25| 994 +-7= D 26 | 40% of 160 = D
1 1 _ _
27 3t = D 28| 0.06 x5 = D
29 = —5+10 [:] 30| 10-(4+3)= [:]
31 =152+ 10 D 32| 206%x6= D
(Total marks /34)
How well did you do? + 3112|1817 |27
Colour the numbers of the - 10 [16]19]20
questions you got correct. X 4 8 19 |15 |16 |18]21]28](30
+ 2 nm |14 |22|23|24]25]29
Fractions 1 12 | 15| 18 | 23 | 27
Decimals 17 | 24 | 25 | 28
Missing no. | 20
BIDMAS 16
Percentages | 26

Arithmetic Practice Tests Set B Year 6 © Rising Stars UK Ltd 2017




